Program of All-Inclusive Care for the Elderly

Monthly Report



November 2023

The Agency serves as the single state agency responsible for administering Florida's Medicaid program. Each state must administer their Medicaid program under a federally approved State Plan. The Medicaid State Plan serves as an agreement between the state and the federal government describing how that state administers their Medicaid program. The Program for the All-Inclusive Care for the Elderly (PACE) Program is included in Florida's approved Medicaid State Plan.

For a PACE Organization to serve enrollees, the State must establish and maintain a PACE Program Agreement. The PACE Program Agreement is the signed three-way agreement between the state administering agency, the PACE organization, and Centers for Medicare and Medicaid Services (CMS) describing how that state administers their PACE program. The PACE Program Agreement also establishes the group of individuals covered by each PACE organization and details covered services, payment methodologies, and other administrative and organizational requirements.

Medicare and Medicaid enrollees are eligible for PACE if they are 55 years of age or older, meet the nursing facility level of care, reside in a designated service area, and can be safely served in the community at the time of enrollment. PACE requires the availability of all Medicare and Medicaid-covered services determined to be medically necessary and covered in the Medicaid Coverage and Limitations Handbook and fee schedules. PACE organizations are paid a capitated rate for Medicare services by CMS and a capitated rate for Medicaid services by the Agency. Because the goal of PACE is to maintain enrollees' independence outside of a nursing facility, home and community-based services are provided to participants as needed. The PACE organization may also deliver other services determined necessary by the interdisciplinary team to improve and/or maintain the enrollee's overall health status. Additionally, the PACE enrollee must accept the PACE center physician as their new primary care physician.

In accordance with proviso following Specific Appropriation 223 of the Fiscal Year 2023-2024 General Appropriations Act (Chapter 2023-239, Laws of Florida), the Agency for Health Care Administration (Agency) is submitting this November 2023 Monthly PACE program status report. Specifically, proviso requires that the Agency:

... shall submit a Program of All-Inclusive Care for the Elderly (PACE) monthly report of all PACE providers, including each providers' authorized service area and slots, slots funded, total enrollments, actuarial dual rate, estimated monthly claims, and estimated cumulative claims. The report shall also include all applications submitted to the Agency, and include the name of the organization, the service area the organization represents, the number of slots requested and authorized, and the date of Agency approval. The Agency shall submit the monthly reports to the Governor's Office of Policy and Budget, the chair of the Senate Appropriations Committee, and the chair of the House Appropriations Committee.

The included table represents the PACE providers' authorized service area, application status, slots funded, total enrollments, actuarial dual rate, estimated monthly claims, and estimated cumulative claims. The table also includes information on all PACE applications received by the Agency between July 1, 2020-November 30, 2023; the names of the PACE organizations, the service area the organizations represent, the number of slots requested, the number of slots authorized, and the date of Agency approval (date the Agency signed the State Assurance Pages, the formal document signifying initial Agency approval).

PACE Organization	Service Area	Application Status:	Initial AHCA Approval Date	Slots Requested	Slots Approved	Slots Funded	PACE Enrollment (as of 1st of the month of report)	Actuarial Dual Rate	Nov-23 Estimated Monthly Claims	Estimated Cumulative Claims (SFY 23- 24)
Florida PACE	Miami-Dade	Operational	11/19/2002	N/A	1028	1028	856	\$3,394.03	\$2,905,289.68	\$14,302,442.42
Hope PACE	Lee	Operational	1/22/2008	N/A	380	380	331	\$3,825.10	\$1,266,108.10	\$6,433,818.20
Suncoast	Pinellas	Operational	8/18/2009	N/A	425	425	318	\$3,816.41	\$1,213,618.38	\$6,228,381.12
Hope PACE	Charlotte	Operational	10/27/2010	N/A	150	150	68	\$3,661.36	\$248,972.48	\$1,299,782.80
Hope PACE	Collier	Operational	4/12/2012	N/A	120	120	67	\$4,145.83	\$277,770.61	\$1,554,686.25
MorseLife PACE	Palm Beach	Operational	5/28/2013	N/A	1031	1031	807	\$4,049.64	\$3,268,059.48	\$15,558,716.88
Florida PACE	Broward	Operational	8/12/2016	N/A	300	300	166	\$3,468.86	\$575,830.76	\$3,198,288.92
PACE Partners of NE FL	Duval and Clay	Operational	6/27/2018	N/A	250	250	109	\$4,027.68	\$439,017.12	\$2,146,753.44
Empath	Hillsborough	Operational	7/27/2020	N/A	250	250	0	\$3,531.73	\$0	\$0
Innovage	Hillsborough, Hernando, and Pasco	Application pending †	3/14/2021	500	250	250	0	N/A	N/A	N/A

PACE Organization	Service Area	Application Status:	Initial AHCA Approval Date	Slots Requested	Slots Approved	Slots Funded	PACE Enrollment (as of 1st of the month of report)	Actuarial Dual Rate	Letimated	Estimated Cumulative Claims (SFY 23- 24)
Stratum	Manatee, Sarasota, and Desoto	Application pending †	3/14/2021	150	150	150	0	N/A	N/A	N/A
Innovage	Orange, Osceola, Lake, Sumter, and Seminole	Application pending †	6/14/2021	300	250	250	0	N/A	N/A	N/A
Mt. Sinai	Miami-Dade	Operational	6/21/2021	N/A	300	300	11	\$3,394.03	\$37,334	\$74,668
Broward LLC	Broward	Application pending †	12/27/2021	200	100	100	0	N/A	N/A	N/A
Kinship PACE	Broward	Application pending †	3/24/2022	200	200	200	0	N/A	N/A	N/A
Beacon of Life	Volusia, Flagler, and Seminole	Application pending †	5/17/2022	500	150	0	0	N/A	N/A	N/A
Trinity	Escambia, Okaloosa, and Santa Rosa	Application pending †	6/20/2022	200	200	200	0	N/A	N/A	N/A
St. Francis Reflections	Brevard	Application pending †	9/21/2022	200	200	200	0	N/A	N/A	N/A
Kinship Central FL	Marion and Polk	Application pending †	12/28/2022	543	150 (Polk only)	150	0	N/A	N/A	N/A
Kinship East	Brevard	Application pending †	6/28/2023	234	N/A	0	0	N/A	N/A	N/A

PACE Organization	Service Area	Application Status:	Initial AHCA Approval Date	Slots Requested	Slots Approved	Slots Funded	PACE Enrollment (as of 1st of the month of report)	Actuarial Dual Rate	Hetimatad	Estimated Cumulative Claims (SFY 23- 24)
BoldAge	Hillsborough, Hernando, and Pasco	Application pending †	6/29/2023	500	N/A	0	0	N/A	N/A	N/A
Volunteers Of America National Services	Bay, Calhoun, Franklin, Gadsden, Gulf, Holmes, Jackson, Jefferson, Leon, Liberty, Wakulla, Walton, and Washington	Application pending †	Pending	300	N/A	150	0	N/A	N/A	N/A
MorseLife PACE	Martin and St. Lucie	Application pending †	Pending	200	200	200	0	N/A	N/A	N/A

[†] Pending Federal and Agency joint approval

Note: Volunteers of America National Services has temporarily withdrawn their application